D . SNBSC MATHS I _IVSEMESTER pxa. WIG1T_T5MARKS oot v,

1) All questions are compulsory.

2) ‘ForQ.1,Q2,Q.3 attempt any one subquestion (Each 8 mks) fropm,

part (a) and any three subquestions (each 4 marks) from part (b)
3) for Q.4 Attempt any three (Each 5 mks.)

w1 a) Attempt any one.'

1) State Rule 3 and solve nonexact differential equatlon
(ac2y3+::cy+l)dx-i~(:t=‘y2 -xy + Lxdy =0 d
2) State and prova bemoulh differential equation and solve x dZ +y =y logx.
’m '_: e A Ny '
b) Attempt any three (each 4 marks) 12

1) Solve the qifferenﬁial equation (x - y)* dy = a’dx.

2) Solve : (y i x_X) g m(y 3 ii’)

4) Solve dlfferentml equatxon (x+y)dv + (5x — 3y + 8)dx = 0.
Q.2 g Attempt any one.

- 8
1) State and prove method of variation of parameters.
2) Solve the dlﬂ‘erentla eq

1) Prove that if
' particular solu

< /. 12
on of the equation y“ + p(ac)y1 +q(x)y = 0 and ¥, is any

!r 3‘

Scanned by CamScanner



VCD. S.Y.BSC )

b) Attempt any three. (each 4 markg) E
1) Use Runge Kutta method of second order to find y(0 - 1), y(0 -2)

2
2) Given the equation y' = —xx y(1) = 2 Estimate y(2) using Mi

corrector method. Assume h = (.25

3) Given equation y' = X y(1) = 2 Estimate y(2) using Adam’-"fl_ s

4) Estimate y(2) with h = 0.5 for Y'=2x2+y y(1)=1 using polyg
Q.4 a) Attempt any three. (each 5 marks) Lt
1) Solve : 2vy y' = y2 _ 243 given that y(1) = :
2) Find the current in series R-c circuit wzth R 200 C 0. Olf

3) Prove that if ¥,(x}is non zero solution of the equatlon o
Y'+Px)y + Qi) y=0. Then . 0, 8 Q

Y, @) =y (x) / _7 ePdex is another solutlon%heﬁg‘,

linearly independent. : @ g

4) Find the other linearly independent solut& ed L
(1—x2) y't — 2xy! 4 2y = 0 given y, = x is soluti n'.

5) Prove that Euler’s method and also~. |
Solvey'=x —y ¥(0) =. Find y(0

6) Given y' = 2xy, yil) =2 Estlmate x(%

75) using Heusf 1€
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